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ENVIRONMENTAL STUDIES (General)
Paper : ENVSG - AEC-1
(CBCS)
Full Marks : 40 Time : One Hour
The figures in the margin indicate full marks.
Each question carries 2 marks.
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1. Earth day is observed on —
(A) 5th June
(B) 12th June
(C) 22nd April
(D) 25th May
1. e T AAfere 20 —
(A) €2 T
(B) 532 T
(C) 230+ «ferst
D) W &
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2. Measuring unit of the noise pollution is —
(A) Joule
(B) Watt
(C) Meter
(D) Decibel

2. e AR G 2o —
(A) g&
(B) &A%
(C) FIo™
(D) Cefiaat

3. Acid rain is related to —
(A) SO,
®) 0,
(C) Methane
(D) Halogen compounds

3. wpifre 3B AF A TifFe —
(A) SO,
B 0,
(C) frces
(D) ZICaACE (ol

Page : 2 of 11



4. Which one is a cold desert of India ?
(A) Thar
(B) Rann of Kutch
(C) Ladakh

(D) Bhopal

4. @G ST Area1 Twel 2
(A) 2=
(B) o= 99
(C) =T
(D) cet=ret

5. Which of the following is a viral disease ?
(A) Cholera
(B) Malaria
(C) Chicken Pox
(D) Diabetes

5. A @I wiza 9w srpe ¢
(A) STl
(B) Sycetfar
(C) o 7
(D) SRIafG
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6. Tobacco addiction is caused by —
(A) Cocaine
(B) Caffeine
(C) Nicotine
(D) Histamin
6. OINIF WG i o7 —
(A) CIICP
(B) e
(C) feifos
(D) s

7. Which one is considered for in-situ conservation —
(A) Zoo
(B) Cryopreservation
(C) Botanical garden
(D) National Park

7. @0 29-Hp FrRcead & [afbe —
(A) Pofemrm
(B) AT RS
(C) Tfen Tyl
(D) @R TiT
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8. Which one of the following pollutant was involved in Bhopal gas tragedy ?
(A) DDT
(B) MIC
(C) CFC
(D) TNT

8. oA (T IF BoileT 7 LG Sy AT 2
A) &%
(B) @¥ =3 5
(C) P1 @z P
D) T 9v

9. Fluoride pollution affects on —
(A) Teeth
(B) Brain
(C) Kidney
(D) Heart

9. FEART 7T O FH —
(A) witex
(B) wfEta=
(C) et
(D) zm#es
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10. Which one of the following is not a part of the same food chain ?

(A) Frog
(B) Snake
(C) Insect

(D) Cow

10. o (@IA0 G2 AW FEER TGS T ?
(A) 3Te
(B) 7=
(C) =t
(D) o=

11. Air pollution caused by —
(A) Smoke
(B) Sewage
(C) Loudspeaker
(D) None of the above

11. IR IR 25 —
(A) &
(B) IR S
(C) ATTHFR
(D) TR (FIAIDE
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12. Percentage of CO, in air is —
(A) 20.6%
B) 16.3%
(C) 0.04%
(D) 77.16%

12. AN CO, 9 o4l A 2o7 —
(A) 20.6%
(B) 16.3%
(C) 0.04%
(D) 77.16%

13. Minamata disease is caused by —
(A) Mercury pollution
(B) Lead pollution
(C) Arsenic pollution
(D) Aluminium pollution
13. AT G- a9 9 =S —
(A) =l 39

(B) AP 7l
(C) SeAfee el

(D) Sutsyffemts el
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14. Which one of the following is a Mangrove forest ?
(A) Jaldapara
(B) Gir
(C) Sunderban
(D) Ranthambhore

14, MBI @0 GO e Sy 2
(A) et
(B) fora
(©) FFwas
(D) =TT

15. The term ‘Green house effect’ was first used by —
(A) U. S. Pilots
(B) Robbert Smith
(C) J. Fourier
(D) E. Haeckel

15. ‘8 2% qrers’ A AT 92T FE —
(A) TT. @71, +AiZ=6
(B) zai6 a2l
(C) (& wfFaE
(D) 3. &F
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16. The phenomenon of dense growth of aquatic plant by use of chemical fertiliser
is called —

(A) Eutrophication
(B) Minamata
(C) Black Foot
(D) All of these

16. IARE ET 2SI Toe Sfema Jad oacd & 28 —
(A) @I
(B) =G
(C) IF T
(D) Tt Aot

17. Earthquake is measured by —
(A) Barometer
(B) Thermometer
(C) Seismograph
(D) None of the above
17. g™ #ifsiel S 22 A [ —
(A) TCARG=R
(B) o=
(C) Prare
(D) THAER @ICAMDS T
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18. Which one of the following is a source of renewable energy ?
(A) Thermal
(B) Petroleum
(C) Nuclear

(D) Solar

18. oA (PAG IR == T 2
(A) Sivife
(B) Cofcqiferam
(C) ~M=neRs #fe
(D) e

19. Which one of the following is found in emission of motor vehicles ?
(A) Mercury
(B) Lead
(C) Copper
(D) Arsenic
19. T3 @G EGIMER (S 2hel AT 2
(A) “m
(B) A
(C) o=t
(D) AR
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20. Full form of ‘WHO’ is —
(A) World Human Organization
(B) World Health Organization
(C) World Holy Organization
(D) None of the above

20. “WHO’ #{ta1 3% 251 —
(A) €3S B effaiEres=
(B) TS (2e1 Solfwizre™is
(C) s @IfeT Sefiaizrem
(D) TR (FICAIDE
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